chased From: rorth Leduc 8202 - 42 Street Leduc Alberta T9E 8M6 Phone: 780-612-9855

Remit To: Edmonton Kenworth Ltd. 17335 118 Avenue Edmonton, AB T5S 2P5

Tel: 780-453-3431 Fax: 780-454-6124

Invoice: 06AS75842

Date / Hour: 10/22/2025 2:56:35PM

Repair Order: 75842

Customer:

Branch: Leduc Total Invoice: \$624.83

Charge

Page 1 of 2

Bill To:

PACE TRANSPORTATION PLUS INC

Ship To: EDGE ENERGY LOGISTICS INC

BOX 1230

LAC LA BICHE, AB TOA 2CO Office Phone: (780) 812-6322

Shop Phone:

Email: ap@edgeenergy.ca

Work: Shop: Customer P/O: 207Dayna Open Date: 10/20/2025 Completion Date: 10/21/2025 Add User: Mtaylor Salesperson: House Unit Number: 207 Model Year: 2012 Make/Model: KENWORTH T800 Type: Class 8 VIN: 1XKDD40X4CJ956451 Meter: 917670 Kilometers In-Service Date: 12/20/2011 ECM Reading: 22418 Task: 05-0000501 **COMPLIMENTARY CUSTOMER INSPECTION Department: Service** 90501 Complaint: COMPLETE COMPLIMENTARY CUSTOMER INSPECTION Correction: COMPLETED COMPLIMENTARY CUSTOMER INSPECTION Parts: Task 1 Subtotals \$0.00 Labora \$0.00 Task 1 Subtotals \$0.00

Task: 42-000003 **COOLING SYSTEM COOLANT LEAK - REPAIR** Department: Service

Complaint: CUSTOMER REQUESTS WE REPLACE SURGE TANK DUE TO CURRENT LEAKING AT THE BOTTOM - PLEASE ADVISE Correction: PRESSUR TESTED COOLING SYSTEM. UPPER RAD HOSE STARTED LEAKING AT 10 PSI, DRAINED COOLANT AND REPLACED UPPER RAD HOSE AND CLAMPS. FILLED COOLING SYSTEM AND PRESSURE TESTED AGAIN, SYSTEM HELD 14 PSI FOR 30 MINUTES WITH NO LEAKS.

Supp.	Part		Description / Ref Number	U/M	Quantity	Price	Price
P0100	CT9444TF	P	CLAMP-CONSTANT TORQUE #44	EA	2.0	\$10.91	\$21.82
S1150	EC7502		COOLANT-TRP ELC 50/50 JUG	JG	1.0	\$13.23	\$13.23
PACCA	R: Loyalty Card	Program M25OCTDEC7284 1					
P0100	HE5985		HOSE-COOL 2-1/2"SIL BLUE	EA	1.0	\$74.44	\$74.44
	COUPON		TRP ELC HD COOLANT CONCENTS 5050 JUGS	RATE	-1.0	\$1.00	\$(1.00)
	SHOPSUF	P	ENVIRONMENT/MISC SUPPLIES		1.0	\$36.04	\$36.04
				Task 2 Subtotals	Parts:		\$109.49
					Labor:		\$450.50
					Miscellaneous:		\$35.04
					Task 2 Subtotals		\$595.03

Customer Tax ID:

879993129RT0001

GST/HST Number:

Detail Tax Info:

GST REGISTRATION NUMBER: R101577278

\$29.80 \$29.80

Total:

Total Parts: Total Labor:

\$109.49 \$450.50 \$35.04

Total Miscellaneous:

^{**} See Last Page for Invoice Total

North Leduc

o∠02 - 42 Street

Leduc Alberta T9E 8M6

Phone: 780-612-9855

Remit To: Edmonton Kenworth Ltd. 17335 118 Avenue Edmonton, AB

T5S 2P5

Tel: 780-453-3431 Fax: 780-454-6124

Invoice: 06AS75842

Date / Hour: 10/22/2025 2:56:35PM

Repair Order: 75842 Customer: 16201 Branch: Leduc Total Invoice: \$624.83

Charge
Page 2 of 2

Bill To:	PACE TRANSPORTATION PLUS INC

Ship To: EDGE ENERGY LOGISTICS INC

BOX 1230

LAC LA BICHE, AB T0A 2C0 Office Phone: (780) 812-6322

Shop Phone:

Email: ap@edgeenergy.ca

Work:		Shop:		
Customer P/O: 207Dayna	· · · · · · · · · · · · · · · · · · ·	· **	Open Date: 10/20/2025	Completion Date: 10/21/2025
Add User: Mtaylor			Salesperson: House	
			Invoice Subtotal:	\$595.03
			Total Tax:	\$29.80
			Total Invoice:	\$624.83
Payment Method	<u>Terms</u>	<u>Due Date</u>		
Charge	Net 15th of month	11/15/2025		

Northern Heavy Duty Repair Ltd

PO BOX 2115

Lac La Biche, AB T0A 2C0, CA northernhdr@gmail.com (780) 404-3830



Invoice:

12962

Date:

Subtotal

\$350.00

6/10/2024

Bill To

Pace Oilfield Hauling Inc

Remit Payment To

Northern Heavy Duty Repair Ltd

PO BOX 2115

Lac La Biche, AB T0A 2C0, CA

Serv	vice Order	Terms	Due Date	Authorizer	Customer	PO /	Unit #
	3743	Net 30	7/10/2024	Kim			207
Item	Description	า			Quantity	Rate	Amount
	AILED, VANES		SEIZED FITTINGS, LOT HAUST SIDE, CHARGE	S OF RUST AIR SIDE VANES RUBBING	i ON		
Cause: (Customer reques	st					
Labor	RUST TURBO FA	rbo / REMOVE TU		D FITTINGS, LOTS OF DE, CHARGE AIR SIDE 2024	2.50000	\$140.00	\$350.00
	, 3					Subtotal	\$350.00
Complair	nt: REMOVE EX	(HAUST MANIFOL	D, INSPECT, NO DAM	AGE IN EXHAUST			
Cause: (Customer reques	st					
_abor	100	rbo / REMOVE EX Completed: 6/10/2		SPECT, NO DAMAGE IN	1.50000	\$140.00	\$210.00
						Subtotal	\$210.00
	nt: REMOVE RO		T ROCKERS AND VAL	VES ON HEAD FOR DAMAG	E, ALL		
	Customer reques						
Labor	157		OCKERS, INSPECT RO L GOOD, CLEAN ROCK		2.50000	\$140.00	\$350.00

Item Description Quantity Rate **Amount** Complaint: INSTALL ROCKERS, SET RUNNING CLEARANCE N SET ALL VALV⋢S CLOSE HEAD UP Cause: Customer request Labor Correction: 3.00000 \$140.00 \$420.00 Engine / Valves / INSTALL ROCKERS, SET RUNNING CLEARANCE SET ALL VALVES CLOSE HEAD UP - Completed: 6/10/2024 **Subtotal** \$420.00 Complaint: REMOVE CHARGE AIR COOLER WASH OUT CHARGE AIR COOLER Cause: Customer request Labor Correction: 2.00000 \$140.00 \$280.00 Engine / Turbo / REMOVE CHARGE AIR COOLER WASH OUT CHARGE AIR COOLER - Completed: 6/10/2024 **Subtotal** \$280.00 Complaint: INSTALL AIR TO AIR **∖ Cause:** Customer request Labor Engine / Turbo / INSTALL AIR TO AIR - Completed: 6/10/2024 1.00000 \$140.00 \$140.00 Subtotal \$140.00 Complaint: REPLACE MANIFOLD SEALS Cause: Customer request Labor Exhaust / Exhaust Manifold / REPLACE MANIFOLD SEALS - Completed: 1.00000 \$140.00 \$140.00 6/10/2024 **Parts** SEAL EXHAUST MANIFOLD 2.00000 \$82.563 \$165.13 Subtotal \$305.13

Complaint: REMOVE/REPLACE COOLANT LINE ELBOW, PASSENGER SIDE

INSTALL MANIFOLD WITH NEW GASKETS, TORQUE INSTALL TURBO WITH GASKET AND NEW NUTS SWAP ALL FITTINGS WITH NEW O-RINGS

INSTALL HOSES

PERFORM INSTALL/CALIBRATION ON ACTUATOR

FILL COOLANT

PRESSURE TEST COOLANT

Cause: Customer request

Subtotal

\$735.37

Item	Description	Quantity	Rate	Amount
Labor	Correction: Ergine / Turbo / REMOVE/REPLACE COOLANT LINE ELBOW, PASSENGER SIDE INSTALL MANIFOLD WITH NEW GASKETS, TORQUE INSTALL TURBO WITH GASKET AND NEW NUTS SWAP ALL FITTINGS WITH NEW O-RINGS INSTALL HOSES PERFORM INSTALL/CALIBRATION ON ACTUATOR FILL COOLANT PRESSURE TEST COOLANT - Completed: 6/10/2024	5.50000	\$140.00	\$770.00
Parts	CUM EXH MANIFOLD GASKET CENTER 3682940	1.00000	\$39.078	\$39.08
Parts	CUM EXH MANIFOLD GASKET 5486657	4.00000	\$35.087	\$140.35
Parts	PAI ISX ISM ISL EXHAUST MANIFOLD BOLT	2.00000	\$9.348	\$18.70
Parts	BACK PRESSURE SENSING TUBE	1.00000	\$114.374	\$114.37
Parts	ISX CM2250 HE451VE TURBO	1.00000	\$4,152.688	\$4,152.69
Parts	GASKET EXHAUST FLANGE	1.00000	\$35.737	\$35.74
Parts	V BAND CLAMP CUMMINS	1.00000	\$26.8464	\$26.85
Parts	EXH GASKET 4 INCH 2866636	1.00000	\$29.3421	\$29.34
Parts	TURBO ACTUATOR W/KIT THORITE NEW CUMMINS ISX 12V	1.00000	\$1,450.00	\$1,450.00
Parts	HOSE COOLANT 90DEG 1-1/4" EPA-Y	1.00000	\$191.516	\$191.52
Parts	CLAMP-HOSE W/LINER #24	2.00000	\$4.016	\$8.03
			Subtotal	\$6,976.67
INSTALL RAI CHECK OIL, DRAIN ENGI RUN TRUCK	NSTALL AIR PIPING D FILL CAP, WAS MISSING WAS LOW NE OIL, REPLACE FILTER, FILL ENGINE OIL UP TO TEMP, DOUBLE CHECK WORK omer request			
	Correction: Engine / Turbo / INSTALL AIR PIPING INSTALL RAD FILL CAP, WAS MISSING CHECK OIL, WAS LOW DRAIN ENGINE OIL, REPLACE FILTER, FILL ENGINE OIL RUN TRUCK UP TO TEMP, DOUBLE CHECK WORK - Completed: 6/10/2024	2.00000	\$140.00	\$280.00
Parts	RAD CAP PACCAR N5349002	1.00000	\$88.894	\$88.89
Parts	OIL FILTER BD50000	1.00000	\$56.966	\$56.97
Parts	CK-4 15W40 OIL	2.00000	\$136.773	\$273.55
Parts	CK-4 15W40 OIL	1.00000	\$35.958	\$35.96

Page: 4 of 4

\$503.06

Unit: 207 VIN: CJ956451

Kenworth

Chassis: 974,678 Kilometers

Labor \$2,940.00

Parts \$6,827.17

Shop Supplies \$294.00

Pre-Charge Subtotal \$10,061.17

GST

(5% of \$10,061.17)

Total \$10,564.23

Payments & Credits \$0.00

Balance Due \$10.564.23

Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agree that we make no warranties of any kind unless expressed in writing. You hereby authorize us to perform the repair work herein set forth and to purchase the necessary material and parts to perform such repair work. You agree that we are not responsible for loss or damage to your vehicle or articles left in your vehicle in case of fire, theft, or any other cause beyond our control or for any delays caused by unavailability of parts or delays in part shipments by the supplier or transporter. In addition, you agree that we are not responsible for damages to your vehicle from freezing due to lack of antifreeze. You hereby grant our employees permission to operate your vehicle on streets, highways, or elsewhere for the purpose of testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is granted to secure payment of this invoice for the repair work detailed in this invoice.

GST# :782506521

Customer Signa	ture:
Printed Name:_	Date:

Marcep Manufacturing Ltd. 4900 GOLF COURSE ROAD STONY PLAIN, ALBERTA T7Z 1W4

Invoice

Date	Invoice #
1/19/2023	2023-14390

Sold To	Ship To	
Pace Transportation		

P.O. No.	Terms	Ship Date	Ship Via	FOB	Project
NC153 20	Due on Completion	1/19/2023			2023-5206 BUIL

Item		Description	Qty	Rate	Amount
service		BUILD 2 3/16 ALUM CP FENDER 34X59-3/4 DBL 90 BRAKE ON OUTSIDE GST On Sales	2	475.00 5.00%	950.00 47.50
OVERDUE 4 CC	OUNTS WILL	DE CHARCED DITERECT AT 201/ REP MOVEN 242			
PER ANNUM.	COUNTS WILL	BE CHARGED INTEREST AT 2% PER MONTH, 24%	Total		\$997.50

HUDYTECH LTD.

22 Springwood Dr NE
Since Lake AB TOG 2A2
/techltd@outlook.com

GST/HST Registration No.: 76317 2806 RT 0001



INVOICE

BILL TO

Pace Transportation Plus Inc.

INVOICE DATE TERMS 1408 17/01/2023

Net 30

DUE DATE

16/02/2023

VIN,YEAR, MAKE, MODEL

706

PACE Leduc Shop

DATE	ACTIVITY	QTY	RATE	AMOUNT
03/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 207, vin#956451, km 917159, hrs 22409	10.50	100.00	1,050.00
	 Install and dust shields and remove all broken bolts from mounting dust shields. Replace DPF gaskets and SCR gaskets and buff remaining surfaces. Remove DPF cover and reinstall. Straighten 5th wheel rear plate so pin on trailer doesn't catch anymore. Repair air lines and install new glad hands on trailer lines Diagnose ABS on trailer cord. Diagnose air leak by d-sign cylinder: found cylinder leaking through. Remove left front spring pin and removed pitman arm off steering box to 			
	gain access.			
04/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit- L-101 Vin#C99390 km-2173 hrs- No hour meter - Freed up brakes.	0.75	100.00	75.00
04/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough	2.50	100.00	250.00
	Unit- L-108 Vin#F16433 km- 306114 hrs- No hour meter. - Diagnose why air bags weren't going			
	up: found air ride valve broken off at base.		21 600	\$ 4100 a)
	- Remove valve and transfer fittings		= \$2	3 \$100.00 2100.00, gst 2205.00
	Page 1 o	F 9	= \$	2305.00

~ · ·	from old to new Install new air valve and check operation Check lights.			
04/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit- 207 Vin#956451 km-917159 hrs- 22409 - Remove and replace all front spring pins and reassemble front spring pins and pitman arm Install front fenders Diagnose check engine light found turbo temp sensor unplugged Drain def tank due to truck being deleted Torque all wheels and diagnose why purge valve was constantly exhausting.	8	100.00	800.00
05/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit- 207 Vin#956451 km-917159 hrs- 22409 Install battery cover. Set toein on front axle. Replace purge valve and repair air dryer snap ring groove.	2.50	100.00	250.00
05/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit-304 Vin#991521 km-22688 hrs- 1006656 - Install speed censor on transmission due to abox being removed Repair wiring going to speed censor: had to remove drive line to gain access to wiring and speed censor location.	2.50	100.00	250.00
06/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit-102 Vin#987277 km-148208 hrs- 3789 - Diagnose air leak in cab: found service line going through fire wall was leaking Cut synflex line back and reinstalled Replaced #2 drive axle dif lock airline Replace windshields Taught swamper how to remove and install Diagnose why #2 drive axle emergency quick release valve was exhausting Isolated all brake pots no change Ordered new valve didn't get delivered in time to replace so released unit to go to work.	4	100.00	400.00
06/01/2023	Hourly Rate / RYarbrough Edge shop rate / RYarbrough Unit-208 Vin#956452 (truck is in	3.50	100.00	350.00

Mitsue so no km and hrs available)
- Drove to West Edmonton Ken-worth
to pick up parts for overhaul and travel
to Mitsue to drop them off (284km).

		SUBTOTAL	3,425.00
		GST @ 5%	171,25
		TOTAL	3,596.25
		BALANCE DUE	\$3,596.25
TAX SUMMARY			
	RATE	TAX	NET
	GST @ 5%	171.25	3,425.00

HUDYTECH LTD

Slave Lake AB TOG 2A2 rechltd@outlook.com 22 Springwood Dr NE

GST/HST Registration No.: 76317 2806 RT 0001



INVOICE

BILL TO

Pace Transportation Plus Inc.

+36+0511\$

INVOICE DATE

12/12/2022

1389

Net 30 TERMS

11/01/2023 **DUE DATE**

Pace units

Z

DATE	ACTIVITY	QTY	RATE	AMOUNT
12/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 207, vin# 956451, km 917159, hrs 22409 - Finish up RAD assembly Install RAD and surge tank Replace drain in lower RAD hose Assist with CVI inspection Create list for parts order Remove rear wheels and drums to get measurements Wash unit to inspect rear components Replace air dryer cartridge Replace air dryer cartridge Replace alves and pull AC system into vacuum. Vacuum test OK Recharged AC system with 4lbs 4oz of R134A.	∞	100.00	00.008
12/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough	ဇ	100.00	300.00

UNIT 304, vin# 991521, km 1006656, hrs 22688

- Check and top oil up.
- Check and top up coolant.
- Replace marker light on walking deck.

- Diagnose ABS. - Found #2 driver side wheel speed sensor to be open.

- Went through list of repairs with Bill to finish off unit from Dec 13.
- Locate parts. - Found where wire was broken: repaired wiring.

15/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 210, vin# 961123, km 497881, hrs 13027 - R&R exhaust bushings and pins on passenger side.	0.50	100.00	50.00
15/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 207, vin# 956451, km 917159, hrs 22409 - Install exhaust Fill with coolant Replace air cleaners.	2	100.00	200.00
15/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 304, vin# 991521, km 1006656, hrs 22688 - Help with installation of hydraulics for winch.	1	100.00	100.00
15/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 203, vin# 982123, km 446323, hrs 5663 - Install new chain up lights Install new pigtails due to them being corroded Replace D sign airline on PS cylinder Remove fan hub to repair belt alignment Replace AC belt.	6	100.00	600.00
	 Fabricate brackets for CAC (charge air cooler). 			
17/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 102, vin# 987277, km 144668, hrs 3677 - Service unit Replace all filters Check all fluid levels Top up transmission oil Grease unit Check front end components Free up fifth wheel linkage Check adjustment Check all lights on unit Replace PS and DS mirror bulbs Cut off DS ripped mud flap on bottom Adjust clutch linkage.	3.50	100.00	350.00
19/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 209, vin# 961119, km 51842, hrs 22590 - Remove wheels on #1 drive axle Remove axle to reseal on DS Removed cones out of axle and nuts	14	100.00	1,400.00
	on studs Cleaned studs for installation Cleaned hub and axle gasket			

	services and install. Remove PS axle. Remove brake pot and calliper to remove hub: calliper bolts were seized. Remove brake pads and disc on hub due to being oil saturated. Remove wheel seal. Removed nuts and studs from cones from axle. Installed new brake disc and pads. Torqued wheel end to spec. Installed gasket and set brakes. Checked tire pressures and installed torque tires. Replaced service air line on PS brake pot. Install DS seat and plumb in blow gun. Diagnose why hood was catching: removed grill and trimmed bottom stainless so it wasn't rubbing on hood bar when opening.			
19/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 207, vin# 956451, km 917159, hrs 22409 - Jack up unit Remove front wheels and fenders to gain access to spring pins and install windshields.	1.50	100.00	150.00
(12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 210, vin# 961123, I'm 498708, hrs 13069 - Boost unit and got running.	0.75	100.00	75.00
20/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 211, vin# 969818, km 445744, hrs 10410 - Boost unit and got running.	0.75	100.00	75.00
20/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 504, vin# 930222, I'm 6679, hrs 8694 - Boost unit and got running.	0.75	100.00	75.00
20/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 102, vin# 987277, km 146172, hrs 3716 - Boost unit and got running.	0.75	100.00	75.00
21/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT 211, vin# 969818, km 445744, hrs 10410 - Diagnose air leak: found air leak at dog switch and D sign switch Diagnose that D sign cylinder was back feeding, air switch had no	1	100.00	100.00

	cylinder they was leaking through.				
/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT J 1603, vin# F17668, km 52377 *no hour meter.* - Diagnose why tower wasn't going u found everything was operational Drained air tanks Stripped tank drain Air up RRIO tire Checked all lights were operational.	p:	1	100.00	100.00
21/12/2022	Hourly Rate / RYarbrough Edge shop rate / RYarbrough UNIT M 402, vin# E17544, km 65584 *no hour meter.* - Diagnose air leak Found emergency line on left front side brake pot Replaced air line Diagnose why kicker roll on front wasn't going up Check valve had air going to but nothing on air bag side Replaced valve with 1/2" 3 way ball valve mounted on top of air valve box until we get 3/8" ball valve in stock Extended air lines to top of box.		4	100.00	400.00
		SUBTOTAL			4,850.00
		GST @ 5%			242.50
		TOTAL			5,092.50
TAX SUMMARY		BALANCE DUE			\$5,092.50
	RATE		TAX		NET
	GST @ 5%		242.50		4,850.00

cylinders in stock and truck had to go to work so installed shut off valve on